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Question Number : 1 Question Id : 8711121 Display Question Number : Yes Single Line QQuestion Option : No Option Orientation :
Vertical

If A 1sasquare matnix of order 1. then 24| 18

Options :
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(Question Number : 2 Question Id : §711122 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

The value of p for which the equations 2x — 3v = 0. 6x + py = 0 can have non
trivial solution 18

Options :
5

1.
O

3.

1]

(Question Number : 3 Question Id : 8711123 Display Question Number : Yes Single Line Question Option : No Option Orientation :

rtioal
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(Question Number : 4 Question Id : §711124 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

If R 15 the rezion bounded by the closed curve C. then the area of R 15 given by

Options :

é-ﬁ(ixdy — ydx)

E
2§ (ydx + xdy)
= $(xdx + ydy)
gﬁ (ydx — xdy)

4

Question Number : 5 Question Id : 8711125 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

. ~ - = Ve . L0 . "

The divergence of the vector field F=xvi +2x"vzj - 3yvzkat(1.1.1) 15

Oplions :

5
2

L

-2

Question Number : 6 Question Id : 8711126 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

The Laplace Transtorm of sin-(2t) 1
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(Question Number : 7 Question Id : 8711127 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

4

The complementary tunction of the ditterennal equanon v 1" — '+ v =logxy 15
k ! 23

Options :

y={(q+0 loga)x

k
1= Cl T C_:'l
%
v ={c; t o) loga
3.
Vv=c;+o, logx
4.

Question Number : 8 Question Id : 8711128 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical

The equation x° —x — / = 0 has

Options :

Exactly three positive real roots

1

Exactly two positive real roots
A

Exactly one positive real root
3.

No positive real root
4.

CQuestion Number : 9 Question Id : 8711129 Display Question Number : Yes Single Line Question Option : No Option Orientation :
Vertical
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By Trapezoidal rule. | ?1;?. fx)dx =

(ptions :

N
L

2

10
3

12
4

(Question Number : 10 Question Id : 87111210 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The second approximate solution of dv'dx = v—x vi0} =1 bv Prcard’s process 1s
Oplions :
I i RS
b
_ lebard wd i
Honid ; S~
I =mFarras
3.
D 3
L%k X~ X"
4

Question Number : 11 Question Id : 87111211 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientatlion : Vertical

The typical mean temperature with increasmg altitude m the troposphere,
Oplions :

decreases

1creasas

o

remains constant

decreases and then wmicreases
Question Number : 12 Question Id : 87111212 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

Wide extended horizontal sheet of clouds tvpically tound below 2 km altitude are
kiown as
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Cirrus clouds

Lo

Stratocumulus clouds
Question Number : 13 Question Id : 87111213 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical
The boundary between troposphere and stratosphere 18 known as

Options :

Tropopause
L

Stratopause

Mesopause
E ]

Exosphere
4.

Question Number : 14 Question Id : 87111214 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The first subsonic commercial aneraii to mncorporate a flv by wire system was

Oplions :

Awbus 320
Boemg 747

Embrasr 650

]

(Cessna caravan

(Question Number : 15 Question Id : 87111215 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Short range aircrafts have range less than
Options :

500 kin

1000 km
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Question Number : 16 Question Id : 87111216 Display Question Number : Yes Single Line Question Option : No Option

Orientation : YVerlical

A moment of 100 kg-m. s 1s umparted to a projectile over a duration of 0.05 s.
What 1s the force provided to the projectile?

Options :

L

-

4000 N

2000 N

(Question Number : 17 Question Id : 87111217 Display Question Nwmber : Yes Single Line Question Option : No Option

Orientation : Yertical

For an aircraft having
of the aweraft 15

Options :

biie

L

bic

s

a wimng span b and standard mean chord c. the aspect ratio

Question Number : 18 Question Id : 87111218 Display Question Number : Yes Single Line Question Option : No Option

Orientation : YVerlical

Which of the fellowing 1s false for steady level tlight?

Options :
, T=D
L=W
. =10
3.

a =0
4.
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Oplions :

-

Question Number : 20 Question Id : 87111220 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The total drag for an aircraft m steady level flight when the drag 1s minuium 1s

Options :

G5Cpo

1.
ZQSCDO
3 qSCl—_] 0

5
4‘(._15{:]30

4

(Question Number : 21 Question Id : 87111221 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

During ghiding thght of an arcraft .

COptions :
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Cuestion Number : 22 Question Id : 87111222 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The sink rate of a ghider 1s the

Options :

Vertical component of velocity

1
Horizontal component of velocitv
Rate of change of vertical velocity
3.
Rate of change of horizontal velocity
4.

Question Number : 23 Question Id : 87111223 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

At constant angle of attack. the drag of an awcraft 1s

Oplions :

1 directly proportional to square root of load factor
miersely proportional to square root of load factor
mversely proportional to load factor

3
cirectly proportional to load factor

4

Question Number : 24 Question Id : 87111224 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The zero-lift drag coetfticient of typical awrcrafts 1s m the range

Oplions :
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Question Number : 25 Question Id : 87111225 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientatlion : Vertical

Which of the following cannot be deternuned using a pibal?
(ptions :

Direction of wind

L
Speed of wind
Height of ¢loud
3.
Relative hunudity
4

(Question Number : 26 Question Id : 87111226 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For an amrfoil. the net aerodynamic force acts at the

Options :

center of pressure

L
~aerodynanic center
_quarter-chord point
3.

mid-chord point
4

Question Number : 27 Question Id : 87111227 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The tendency of an amrcraft to converge to the mutial equilibrium condition
followimg a small disturbance from equilibrium 1s referred to as

Options :

Static stabiliry
Dynamic stability

Trun

—
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Question Number : 28 Question Id : 87111228 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

contributes significantly to lateral static stability of an awrcratt.

Options :

Wing sweep

E
Aspect ratio
Wing dihedral
5
Fing
4

Question Number : 29 Question Id : 87111229 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The damped oscillation in vaw which couples mro roll and sideslip 1s known as

Options :

Dutch roll

L
Phugoid
Roll subsidence mode
3.
Spiral mode
4

Cuestion Number : 30 Question Id : 87111230 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The sum of the torces on an aircratt along the wind NXs-axis 15 .
(T = Thrust. W = Weight. L = Lift. D = Drag. u = angle of attack. v = clunb angle)

Oplions :

Tcosa—D — Wcosy

1

Tsina—D — Wcosy

Tcosa—D — Wsiny
3

Tsina—D—Wsinvy
4
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Options :

Magnetism
Gyroscopic principle
Atmospheric pressure variation with altifude

[ ocation of sun

Question Number : 32 Question Id : 87111232 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The mimmum airspeed requirad for a vertical loop doas not depend on

Options :

Arrspeed lost i the first halt of the manesuver

L

Radius of the loop

Muumum awrspeed required for control
3

Stabiliry margin of the aircraft
4

Cuestion Number : 33 Question Id : 87111233 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Inx a stall turn. the acrobatic awrcraft uses to turn about the axis normal to
the aircraftt.

Options :
Aileron
.
Rudder
Flap
3

; Elevator

Cuestion Number : 34 Question Id : 87111234 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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E
180°
2300
A60°
4.

Question Number : 35 Question Id : 87111235 Display Question Number : Yes Single Line Question Option : No Option
Orientatlion : Vertlical

The Euler angle w 1s called as

Options :
. yaw angle
_ roll angle
azimuth angle
3.
tlight path angle
4.

(Question Number : 36 Question Id : 87111236 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

There are non-dimensional derivatives with respect to pitch rate of an
awrplane.

Oplions :
6

]

[

Question Number : 37 Question Id : 87111237 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

It the real part of the e1gen value 15 zero. then the solution corresponds to

Options :

damped mode
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divergent mode

Cuestion Number : 38 Question Id : 87111238 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Spiral mode of an auplane 1s
Options :
slowly convergent
highly convergent

-

slowly damped oscillatory mode

]

highly damped oscillatory mode

Cuestion Number : 39 Question Id : 87111239 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For steadyv level thight. the velocity (V) 1s related to wing loading (W'S) as

Options :
[ 2w
\{pCL >
E
|pCL W
\ 2 S
2 W
pCy, S
3
pCp W
% B
4

Question Number : 40 Question Id : 87111240 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The power required for steady level flight of an awrcraft is

(Iptions :
1 . Kw*
—pV°S5Cpy +—
2 -pV5S
3 2
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Kw=
~pV?SCpo + 1~
2 ~pVS

4.

Question Number : 41 Question Id : 87111241 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
The dynamic pressure for nunmuum power requirement for an awcratt in steady
level tlight 15
Options :

S 3K

W/ Cpo

—
w [ &

s \‘[ BC[}G

-

i { 3
w “\jHCDo

—

_
w1
S \}E‘}HCD_‘;

(Question Number : 42 Question Id : 87111242 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
The mduced drag at the condition of muumuin power requirement for an aircraft
i steady level flight 1s that of zero-lift drag.

Options :
equal to

1
fwice
thrice

3
halt

4

Question Number : 43 Question Id : 87111243 Display Question Number : Yes Single Line QQuestion Option : No Option

M hastrrad ndimas « D nedianl
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0.25
[
(3,50
0,75
3
1.0

Question Number : 44 Question Id : 87111244 Display Question Number : Yes Single Line Question Option : No Option
Oricntation : Vertical

The CL for an aircraft flyving ar mmimum power 1s % more than that for the
aircratt flymg at mimimum thrust under steadyv level tlhight condition.

Oplions :
41
1.
S0
i
3.
100
4

(Question Number : 45 Question Id : 87111245 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The first space program m which people and equipment were send to moon was

Options :
Gemun
.
Mercury
Apollo
3
Satur
4

Question Number : 46 Question Id : 87111246 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical
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Oplions :

Perigee

Apogee

Center of the ellipse

|

Focus of the ellipse

(Question Number : 47 Question Id : 87111247 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The radius of the earth 1s approxunately
Oplions :

4720 kin

5720 km

L

6370 km
3

Question Number : 48 Question Id : 87111248 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

It mass of the earth 15 Mg. radius of the earth 1s Rg and "G’ 15 universal gravitation
Options :

constant. then the acceleration due to gravity is represented as

GMg

]

Mg

(Question Number : 49 Question Id : 87111249 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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60 kg
L

12 kg

300 kg
3.

65 kg
4

Question Number : 50 Question Id : 87111250 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A satellite will travel m a circular orbit of radius 1 around earth if the normal
component of acceleration 1s (g 1x the acceleration due to gravity on the
earth’s surface and R 1s the radins of earthy.

Oplions :

RE
82
1
1.2
g
ﬂ,
g
3
RS
g_
IEE
4

Question Number : 51 Question Id : 87111251 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For a satellite moving m an elliptic orbit around earth. the maximumn speed will be
at the poimnt

Oplions :

farthest from the earth
on the semi-minor axis

. i 5 '} .
on the ellipse making 135" with the apogee

]
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Question Number : 52 Question Id : 87111252 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

For an unpowered space vehicle. at the closest pount the velocity of the vehicle 15

less than that for a parabolic trajectory. then the trajectory has the shape of

Options :

Ellipse

| —

Straight e

Parabola

]

Hyperbola

Question Number : 53 Question Id : 87111253 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
The trajectory of an unpowered space velucle around earth 15

Options :
a spiral

.

an ellipsoid

A CONIC section
3

a cardioid
4.

Question Number : 54 Question Id : 87111254 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

Which of the following statements about communications satellite 1s wrong?
Options :

Communicanon satellites are placed mn a geosyvnchronous orbit
They move 111 a circular orbat

The tme period of the satellite 15 approximately 24 hours

]
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Question Number : 55 Question Id : 87111255 Display Question Number : Yes Single Line Question Option : No Option
Orientatlion : Vertlical

Dynamic pressure 1s defined as

Options :

[P Cor
13

P Voo

l -

?pIEI
3 -

i 5

r2

EDEEI

4.

Question Number : 56 Question Id : 87111256 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The ST unit of the coefficient of viscosify 1s

Options :
N
m?2
E
N
111
2
M
111“s
A
Ms
i
m-
4

Question Number : 57 Question Id : 87111257 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

The tangent to gives the direction of flow at that point.
Oplions :

; Path line

Vortex hine
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Question Number : 58 Question Id : 87111258 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientatlion : Vertical

For mviscid, mcompressible tflows. the superposition of a wuform flow with a
source 15 equivalent to

Options :

flow over a Rankine oval

L

tlow over a cylinder

flow past tlat plate
3

tlow over a semi-mnfinite body
4,

(Question Number : 39 Question Id : 87111259 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For the mviscid. mcompressible flow past a sphere. the maxmmum velocity
reached on the surface of the sphere 15

COptions :

iy
21“
1
1
Eory
2\‘“3
2
T
3V
5
2V..
4

Question Number : 60 Question Id : 87111260 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

At low Reynolds number the flow m the boundary layer tends to be

Options :
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Inviscid

Static

s

laminar

Cuestion Number : 61 Question Id : 87111261 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For the tlow m a boundary laver. the thickness at which the axial velocity
approaches 0.99 times the free stream velocity 1s knowu as

Options :
Boundary layer thickness
1.
Displacement thickness
Momentun thickness
3.
Shape factor
4

Cuestion Number : 62 Question Id : 87111262 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For a laminar boundary laver past a flar plate. the boundary layer thickness grows
1 the downstream direction.
Oplions :

linearly

parabolically

_elhiptically
a. i

exponentially

Question Number : 63 Question Id : 87111263 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The direction of aerodynamic [ift 15

Options :
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Parallel to tuselage damun

Lo

Parallel to side ship velocity

Cuestion Number : 64 Question Id : 87111264 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The stalling velocity of an awrcrait is deternuned by

Options :
dcp
dc
1 :
Cp
Lmax
5
CL
Cp
4.

Question Number : 65 Question Id : 87111265 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The design hift coeftficient for NACA 23012 awrfoil 1s

Options :
0.1
I
s
() A
3
0.4
4

Question Number : 66 Question Id : 87111266 Display Question Number : Yes Single Line Question Option : No Option
Orientatlion : Vertlical
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1.

2
B

5

) :’ R
i

2 A
4

Question Number : 67 Question Id : 87111267 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Aerodynamic center 1s defined as the point about which

Options :
the moment is zero

the moment 1s mdependent of angle of attack
the pressure 15 zero

the flow separates

(Question Number : 68 Question Id : 87111268 Display Question Number : Yes Single Line (Juestion Option : No Option
Orientation : Vertical

Accordig to the Kutta-Joukowsk: theorem the lift 1s written as

Oplions :
o, V. .[
l.
0. V.I/2
0 VAT
3
i _
72
E Qe T""'f;:-l_
4

Question Number : 69 Question Id : 87111269 Display Question Number : Yes Single Line Question Option : No Option
Owientation : Vertical

The magnitude of the pitchung moment about the quarter chord point for a NACA
0012 airtfoil

Mndinne -
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mcreases bevond stall

becomes zero at stall

]

remains constant bevond stall

Question Number : 70 Question Id : 87111270 Display Question Number : Yes Single Line Question Option : No Option
Orientatlion : Vertical

The Blasius solution for an mcompressible, laminar boundary laver predicts the
boundary layer thickness to be

Options :
5
0 =—
-l.." Re};
E
5X
§=—
. J ZReg
5
S =
JXRey
3.
Ex
§ =
\ Reéx
4

Question Number : 71 Question Id : 87111271 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The two dimensional stagnation poimt flow is known as

Options :

Couette tflow

l
Poisauille tlow
Hiemenz tlow
3
Stokes flow
4,

(Question Number : 72 Question Id : 87111272 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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the waves propagating from a body moving at supersonic speeds

1
the waves emanating from a shaip corner m supersonic flow
the waves emanating fron an open jet
3.
two dunensional growing waves i the early linear phase of lanunar to
turbulent transition
4.

(Question Number : 73 Question Id : 87111273 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The friction velocity mn a turbulent boundary layer 13 defined as

COptions :

[ B
.
+  Tw
e
\ o
3
i
*\JTW
4.

(Question Number : 74 Question Id : 87111274 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

At the pomt of boundary layer separation

Options :

Shear stress 13 maximuun

I
Shear stress 13 zero
Velocity 15 negative
3
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Question Number : 75 Question Id : 87111275 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a boundary laver the tlow is

Options :

Irrotational and viscous

.

rotational and mviscid

rotational and viscous
5

urotational and mviscid
4,

Question Number : 76 Question Id : 87111276 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 a boundary laver developed along the flow. if the pressure decreases along the
dovwnstream then the boundary laver thickness

Options :

remains same

3
decreases more rapidly
_ decreases gradually
i
mecreases gradually
4.

Question Number : 77 Question Id : 87111277 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The specific mternal energy of a gas 1s related to its specific enthalpy as
Oplions :

h=e+pv

h=e—pv
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h =2e 4+ pv

Question Number : 78 Question Id : 87111278 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientatlion : Vertlical

When a supersonic flow 1s turned away trom itself. 18 formed

Options :

a shock wave

L
an expansion wave
a slip lie

3
a vortex sheet

4

Question Number : 79 Question Id : 87111279 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The speed of sound at standard sea level 15

Options :

A00 m's
.

340 ¢

400 m's
3

430 /s
4

(Question Number : 80 Question Id : 87111280 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a convergent-divergent nozzle. when the tlow goes sonic at the throat. 1t 1s

called
Oplions :

Choked flow
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Stokes flow

L

Fanno tlow

Question Number : 81 Question Id : 87111281 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The purpose of a diffuser 15 to
Options :

Decrease the pressure of tlow

L

Increase the temperature of flow

Decrease the velocity of the tlow
3.

Increase the stagnation temperature of the flow
4,

(Question Number : 82 Question Id : 87111282 Display Question Number : Yes Single Line Question Option : No Option
Oricntation : Vertical

A process m which entropy remains constait 1s known as

Oplions :

Isothermal process

L
Adiabatic process
Isobaric process
3.
[sentropic process
4

Question Number : 83 Question Id : 87111283 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientatlion : Vertical

Which of the following statements is true?

Oplions :

collegedunia:

India’s largest Student Review Platform



111TCT11al CLCTEY 15 dll CXICIISIVG PIOPCITY

Both pressure and mtemal energy are extensive properties

]

Neither pressure nor mternal energy are extensive properties

(Question Number : 84 Question Id : 87111284 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
The true aw speed (v) 1s related to the equuvalent awr speed {v2) as.
(where p 13 the freestream densityv and py 15 the density at the standard sea level
mternational standard atmosphere value)

Options :
—
v=ve [P
\ Po
L
W= NMp k9
N\ P
vVv=V _FZI_
: Lo
3
L0 VE@
4 P

Question Number : 85 Question Id : 87111285 Display Question Number : Yes Single Line Question Option : No Option
Orientatlion : Vertical

Ravleigh’s supersonic pitot tube equation relates the

Options :
stagnation temperature behind a shock to the static temperature ahead of
the shock

L
static pressure behind a shock to the statc pressure ahead of the shock
stagnation pressure behund a shock to the stagnation pressure ahead of the
shock

3.
stagnation pressure behind a shock to the static pressure ahead of the
shock

4
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P1V stand ifor
Oplions :

Particle Interference Velocimetry

L
Particle Image Velocumetry
Particle mduced vibrations
3.
Phase Interference Velocumetrv
4

Question Number : 87 Question Id : 87111287 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following 1s not an objective ot tlight testing”
Oplions :

Determine actual characteristics of awrcraft

1.
Determine the skills of the pilot
Provide developmental mtormation
3.
Provide research information
4

Cuestion Number : 88 Question Id : 87111288 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following 1s not a tactor tor the thight rest planning?

Options :
Safety
1.
Cost
Schedule
3.
FAR approval
4
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o
Options :

nozzle-test section-ditfuser

g

_ diffuser-test section-nozzle
. test section-dittuser-nozzle
; test section-nozzle-diffuser

Question Number : 90 Question Id : 87111290 Display Question Number : Yes Single Line Question Option : No Option
Orientatlion : Vertical

Which of the following type of error 1s 110t significant m pitot-static systems?

Options :

position error

[
Instroment e1ror
Parallax error
3
Pressure lag error
4,

Question Number : 91 Question Id : §7111291 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

On the principal planes of stress. the shear stress 1s

Options :

Maximun value

1.
Ninnnun value
Lero

5
Positive

4

Question Number : 92 Question Id : 87111292 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Oplions :

Ellipse
[
Hyperbola
Concentric circles
3
Parabola
4

(Question Number : 93 Question Id : 87111293 Display Question Number @ Yes Single Line Question Option : No Option
Oricntation : Vertical

The ratio of effectrve length of a hixed-fixed cohunn to its actual length 15

COptions :

2.0
1
1.0
0.5
3
0.6998
4

Cuestion Number : 94 Question Id : 87111294 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The mam structural elements of the wing of an aircraft are

Oplions :
Ribs
L
Spars

Stringers

Lo

Bulkhead
4
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Options :

Young's modulus

3
Modulus of nngidaty
Tangent Modulus
3.
Secant Modulus
4

Question Number : 96 Question Id : 87111296 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The tfime dependent deformation of a material under an applied load 1s defined as

Options :
Fatigue
&
Stress
Straimn
3
Creep
4

(Question Number : 97 Question Id : §7111297 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For a shaft m torsion. the proportionality constant between torsion and twist per
it length 1s
Oplions :

Torsion constant

L
Torsional rigidity
Flexural rigidity
3.
Bulk modulus of nngidaty
4
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(t 15 the thickness and s 1s the width)

Options :
st3
T
5E2
st
.3
3
st3
3
4

(Question Number : 99 Question Id : 87111299 Display Question Number : Yes Single Line Question Option : No Option
Oricntation : Vertical

The principle of superposifion method for analysis of structures 15 limited to

Options :

limear systems

3
_ nonlmear systems
_ viscoelastic materials
1,
structures undergoing plastic deformation
4 |

(Question Number : 100 Question Id : 871112100 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The primary mstability of a stiuctural element mvolves

(Iptions :

Local tailure
Failure at the edges

The bending of the complete element

)
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Question Number : 101 Question Id : 871112101 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The maxmmum load the awrcraft 1s expected to expenience during 1fs operation 1s
called

Oplions :
it load

. proof load

ultimate load

proof factor

(Question Number : 102 Question Id : 871112102 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which type of vibrations are alse known as transient vibrations?
Oplions :

Torsional vibrations

Undamped vibrations

-

Damped vibrations

Transverse vibrations
Question Number : 103 Question Id : 871112103 Display Question Number : Yes Single Line (Question Option : No Option
Orientatlion : Vertical

The deflection of the mid-span point of a simply supported beam. having flexural
rigicity EI and length L. subjected to a poinr force W i the vertical direction 1s

Options :
0.02 EI L2
T
| W
0.02 W L2
R EI
0.02 EIL?
3 v
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Question Number : 104 Question Id : §71112104 Display Question Number : Yes Single Line Question Option : No Option
Owrientation : Vertical

The tlexural rigidity of a thin plate m bending 1s .
(E 15 the Young's Modulus. t1s the thickness and v 1s the Poisson’s ratio)

Options :

Ei=
12(1—v7)
i
Et
L2417
Et?
12{1—v?)
3
Et?
12
4

Question Number : 105 Question Id : §71112105 Display Question Number @ Yes Single Line Question Option : No Option
Orientation : Vertical

The buckling coetticient of a plate suuply supported on all edges m compression 18
that for bending.

Options :

L ess than

L

Greater than

Equal to
3.

Asymptotically equal to
4

(Question Number : 106 Question Id : 871112106 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For a panel stiffened by longitudinal members m compression. whicl 1s the least
likely mode of failure?

Options :
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The panel between the stringers buckling as plates

The elements of stringers buckling as long plates

Lo

The flange attached to panel failing as columns

Question Number : 107 Question Id : 871112107 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The hoop stress of a spherical pressure vessel is that of a ¢ylindrical
pressure vessel when the thickness, radius and ditferential pressure are same.

Options :

saIe as
twice

. halt
3.

1 /4t

(Question Number : 108 Question Id : 871112108 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The specific unpulse 1s related to the effective exhaust velocity as

Options :
Ia
C= =2
| aa
) T2
C= -2
2o
C = IspgD
3.
C= Rlp8
4.

Cuestion Number : 109 Question Id : 871112109 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A optimum performance of a C-D nozzle with high area ratio 1s at

ntinne -
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independent of altitude

free space
Question Number : 110 Question Id : 871112110 Display Question Number @ Yes Single Line Question Option : No Option
Orientation : Vertical
Thermal efficiency of a Bravton cycle with pressure ratio across the
COMPIEssor.
Options :

Increases lmearly

1
Increases nonlinearly
Decreases

3.
Remams constant

4

Cuestion Number : 111 Question Id : 871112111 Display Question Number : Yes Single Line (Question Option : No Option
Orientation : Vertical

The maximum value of propulsive efficiency occurs when
Options :

the awweraft thes at its maximun velocity

1

the engme produces maxunum thrust

the exiat velocity 1s twice of the thight velocity
3

the exit velocity i1s equal to the tlight velocity
4.

Cuestion Number : 112 Question Id : 871112112 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The Thrust Specitic Fuel Consumption {TSFC) 15 detined as

Oplions :
j &

nig
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m
5
my
T
4.

Question Number : 113 Question Id : 871112113 Display Question Number @ Yes Single Line Question Option : No Option
Owientation : Vertical

The specific mpulse of a typical solid propellant rocket engine 13

S50 s
I

2350 &

450 s
3

1000 s
4

Question Number : 114 Question [d : §71112114 Display Question Number @ Yes Single Line Question Option : No Option
Orientation : Vertical

Gibb’s equation relates to thermodynamic variables.
Oplions :

Kinetic energy

L
Potential energyv
Heat

3
Entropy

4

Question Number : 115 Question [d : §71112115 Display Question Number @ Yes Single Line Question Option : No Option
Oricntation : Vertical

An example of a binder used in solid propellants is

Options :
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CQuestion Number : 116 (Question Id : 871112116 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientation : Vertical

The combustion taking place m a combustor of a jet engme 15 tpically

Options :

Fuel-11ch

£

Fuel-lean

Stoichiometric
3

Near storchiometric proporfions
4,

CQuestion Number : 117 Question Id : 871112117 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of y of the combustion products m a gas turbine engine with

femperature.

Options :
mereases
1.
decreases

decreases and then mcreases

L

remalns constant

Question Number ; 118 Quesiion Id : 871112118 Display Question Number : Yes Single Line QQuestion Option : No Option
Orientatlion : Vertical

Which of the following doesn 't contribute to mlet losses i awr-breathing engines?

Options :
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Shock losses

—

Flow reattachment

Cuestion Number : 119 Question Id : 871112119 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The 1sentropic efficiency of a compressor 1s defied as
COptions :

1deal work of compression for crven .

1.
actual work of compression for given 1,
1deal work of compression for given m. divided by actual work of
_compression for given T,
i B
actual work of compression for given m. divided bv ideal work of
compression for grven m,
4.

Question Number : 120 Question Id : 871112120 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Leading Edge Advanced Propulsion (LEAP) engme 1s developed by
COptions :

General Electric and Snecma

i
Lockheed and General Electric
Northrop Griunman and Rolls Rovce
3
Lockheed and Kawasak:
4,
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